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Tre curnulaiive freattency graph belorv displays the mark-s scorcd by I'ear 1') -sirrdents

frorn a clustcr of schools irr a conrmorl trial matltenlatics cxam.
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The daily rainfall for the town of St. A¡na is collected over a 20-day period of time-

The collected data afe represented in the box and whisker plot below.
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Daily rainfall (mm)

(a) Write down

(i) the lowest daily rainfall;
("

(ii) the highest daily rainfan- 2O

State what the value of 12 mm represe 
\(b)

(c) Find the interquartilc range-

14-4 =

t'

rnf\^5
(d) write down the percentage of the data which is less than the upper quurrtt"]5
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ln an experiment, a number of fruit flies are placed in a container. The population of fruit
flies, P, increases and can be modelled by the function

P(t)=12x3o'Aest, />0,

where / ¡s the number of days since the fruit flies were placed in tlre container,

(a) Find the number of fruit flies

(i) which were placed in the container,

(¡¡) that are in the container after 6 days. l4l

The maximum capacity of the container is 8000 fruít flies.

(b) Find the number of days until the container reaches its maximum capacity l2l

P(o) = lth\'
l2

v&\ = ¡th\
,141 þ\

ß\q,11(o n,", = aZÒ

,q6t
ù ?ô0c

w
IL

= tzh)
òtvtd¿

'ffitrT
\,,

\

t: ll.ot davS

{



-22-

+
-f ô\

M 1 B/s/MATSD/S P 1 /EN G/TZ1 /)

L\ A solid right circular cone has a base radius of 2l cm and a slant height of 35 cm'

A smaller right circufåi"on" has a height o'n l2cmand.a slant height of l5cm' and is

removed from the top of the larger cone' as shown in the diagram'
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(a) calculate the radius of the base of the cone which has been removed'

(b) Calculate the curved surface area of the cone which has lieen removed

(c) Calculate the curved surface area of the remaining solid
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Consider the quadratic function ,f (x) = ax' + bx + 22 -

The equation of the line of symmetry of the graph y:f (x) is x = I-75

(a) Using only this information, write down an equation in terms of a and b

The graph intersects the x-axis at the point (-2, 0)

(b) Using this information, write down a second equation in terms of a and b

(c) Hence fìnd the value of a and of b

The graph intersects the x-axis at a second point, P.

(d) Find the ¡-coordinate of P
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